
Name______________________________ Period______ Date_____________________ 

 

CHAPTER 4 TEST 

 

For problems 1 – 20, solve the problem.  (4 points each) 

1. 



4  9     2. 



10 (3)     3. 



52 (52)  

 

 

 

 

 

4. 



516     5. 



4 16    6. 



8 20 

 

 

 

 

 

7. 



25 39     8. 



62 (12)     9. 



45 (6) 

 

 

 

 

 

10. 



3014    11. 



3 (9)    12. 



214  

 

 

 

 

 

13. 



16 (16)   14. 



24 (6)    15. 



6 (38) 

 

 

 

 

 

16. 



7413    17. 



2 (5)    18. 



46 (7) 

 

 

 

 

 

19. 



3 21    20. 



15 7 

 

 

 

 



For problems 21 – 25, fill in the table and graph the points.  (4 points each) 

 

21.   

x -2 0 2 4 

y  = 3 - x     

 
 

23.   

x -2 0 2 4 

y = -1 + x     

 

 
 

 

 

22.   

x -2 0 2 4 

y  = x + 2     

 

 
24.   

x -2 0 2 4 

y = x - 4     

 

 



 25.   

x -2 0 2 4 

y = 4 – x     

 
 

 

 

 

BONUS:  Graph the points:  (0, 3), (3, 5), (-6, 4), (-2, -5), (1, -2).   

(2 points each)  

 

 
 

 

 

 

 



Name_____ ANSWER KEY ___________ Period______ Date_____________________ 

 

CHAPTER 4 TEST 

 

For problems 1 – 20, solve the problem.  (4 points each) 

1. 



4  9     2. 



10 (3)     3. 



52 (52)  

5     13     0 

 

 

 

 

4. 



516     5. 



4 16    6. 



8 20 

- 21     - 12     12 

 

 

 

 

7. 



25 39     8. 



62 (12)     9. 



45 (6) 

14     50     - 51 

 

 

 

 

10. 



3014    11. 



3 (9)    12. 



214  

44     6     - 16 

 

 

 

 

13. 



16 (16)   14. 



24 (6)    15. 



6 (38) 

0     30     - 44 

 

 

 

 

16. 



7413    17. 



2 (5)    18. 



46 (7) 

87     -7     39 

 

 

 

 

19. 



3 21    20. 



15 7 

18     22 

 

 

 



For problems 21 – 25, fill in the table and graph the points.  (4 points each) 

 

21.   

x -2 0 2 4 

y  = 3 - x 5 3 1 -1 

 
 

23.   

x -2 0 2 4 

y = -1 + x -3 -1 1 3 

 

 
 

 

 

22.   

x -2 0 2 4 

y  = x + 2 0 2 4 6 

 

 
24.   

x -2 0 2 4 

y = x - 4 -6 -4 -2 0 

 

 



 25.   

x -2 0 2 4 

y = 4 – x 6 4 2 0 

 
 

 

 

 

BONUS:  Graph the points:  (0, 3), (3, 5), (-6, 4), (-2, -5), (1, -2).   

(2 points each)  

 

 


